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1. Try to determine the response to an input that begins at t=0 as u(t)=cos{100t)1(t),
where 1{f) is a unit step function. (20%)

2. Show that the breakup and break-in points for the loot locus can be found by
using the relationship
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where z,and p, are the negative of the zero pole values, respectively, of G(s}H(s),

o is the real value. (20%)

3. Determine the stability of the closed-loop transfer function
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(20%)

4. Given the transfer function
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L{s)= .
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tell how many poles are in the right half-plane, (6%) in the left half-plane, (6%)
and on the imaginary axis {8%).
5. Given the transfer function
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L(s)=

derive the phase-variable form (10%}) and controller canonical form, {10%)
respectively.




